ax’ = (2a+c)x=1 = (b=2)x* = c7k x o] ghol Aol P& U
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x,y,zl sl A 2stA
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x, y, zol tigt gsAloln=
a=b,a+b-c=0,c=4
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5.  f(x)=2x%-2x+k7tx-28 o] Hold uf, ko g2?

© 0 @1 ® -8 @ -10 (@_12

f@) =26~ 2x+k 7} x-2 2 1w0] Foj@
2 gelo] oJsf £(2) = 16 -4+ k=0
Sok=-12




6.

i
re,
>
Eha
:%
_0|L
rg

D

t}atAl ¢
Sax+ay—-bx—b
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(:) x(a - b) (:) a— b X—=Yy
: a l: a l X y)

ax+ay—
y bx—byia(x+y)—b(x+
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a:1+i,ﬁ:1-iw1,§+%9m%?

@ -i ® -1 @0

@ i
B

1-i 14+i (1-)2+(1+i0)?

Boa_l-i 1+i_
e B 1+i 1-i  (1+id(1-i)
(1-2i+i) + (1 +2i+ %)
1—i2




8.  V-3- V-5& A telH?

® V5 @-vis ® Vi
@ -+15i ® -15

‘ VB V5 = Vi~ VBi= V5




G HHAeo = AejstH
3yx3 + (9y — z)x + by — 4|t
© EAeo = A stH
5y — 4 + (9y — z)x + 3yx® o]t}.
© FolH oA x o thgh 3 x4 o]t},
® x* 9 Ag+= 30|t

® B5Fe -4 otk

® 3,6 @5, 0.6
® 3,0 ® 6,0, 6
® 6,0,6.@ 0

@ x> 9] A4 3y olth.
® A2 5y -4 °|th




10. 5 oFat4 A, Bl tiste] A4t Ae B A @ B2 T3t Zo] A ols}
712 gt}
AeB=A-3B, A B=(A+ B)B
P=2x34+2x°y+3x°2 =y, 0= x> + x>y + py? 0|zt & o,
(P Q)® QE x,yoll T3 tiatA] o 2 YehfH?

@ x4y2 + xy5 (@)x4y2 _ xy5 @ x3y2 _ xy4

@ x3y? + xy? ® 2x%y% — xyt

oo wet (Pe Q) ® Q5 WS
(PeQ)®0 = (P-30)®0

=(P-30+0)0Q
=(P-20)0 - O
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@ 1 @ 2 ® 3 @)4 ® 5

B ~
¥ -3x-3=(x*-2x-1)(ax+b)+cx+d
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13. (a-b+c)(a-b-c)E H/NSHH?

® -a®>+b>-c®+2ca @ a®-b%>+c%+2ab
@ a4 b% + 2 + abe @ a?-b%-c24 2

@a2 +b%—-c%-2ab

B
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(@a-b+16)x+4b-8=3x+4----- @
@] xoll Higt FSAo|BE,
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16. (x4 —8x% - 9) + (x2 - 9) £ Alitsto et

@x2+1 @ x*-1 ® x?+2
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xt—8x2-9= (x2—9) (x2—|—1)
L (EA)=x2+1




17, (1430)(1=30) - (2= )3 +1) F Atata?

® 17-i @3+i ® 3-i @ 7+ ® 7-i

+3i)(1-3i) = (2= )(3+1)
(149)—(6-i+1)

(1
= 3+i
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® (x+1)(2x+1)(3x-1) @(x+ D(2x-1)(3x+ 1)
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f(x) = 6x% + 5x% — 2x — 1 0|2} ofH
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21. 422 4+9= (2 +tax+b)(x* +cx+d) 2 JA5EHNE W, |ab - cd|
o g2 Poteler.

(F4]) = (2 + 3)% - (2x)?

= (x® 4+ 2x + 3)(x* — 2x + 3)
o714 Ao Hl sk
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